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But there is blood; concerning which the Merciful one says, etc.

OVERVIEW

The X3 challenged 12X ' who maintains that 9580 X7 includes 7837 M0°K from
the fact that 07 is X172 M. The XA previously asked a similar question from 773
nwin and answered that 7907 77°3 191 X7 72°21 7MW, Seemingly the &m3 could
have used the same answer here concerning 07. The implication of this omission
causes a difficulty which m»oin resolves.

— 25950 933 D121 Zna A9mMnYa wn XY ANNa Y993 %N NY 017 mun
It is apparent from this X723 that blood is not included as part of the animal,
since the X3 did not answer that when the 7710 permitted to derive benefit

from the animal, its blood was also permitted. The reason is (seemingly) because
blood is considered as a separate entity from the animal.

nvoIn asks:
— N0V Y91 a2 N2 07 (w1 &1y maw) 192 NINIINA 9INT DN 192299 AYP)

And the n''s has a difficulty, for the Xn»92 states in 7% N°3w77 P79 that 7''a

maintains that blood of a 79721 is X% -
— 07 MY YIYA KIN 591 1792 R1NON NYT 1NN (3293) Y0 529 NN VNP
And >'"'2%1 stated there that 77''2 is X»w» only if there is a 27 nsysan -
— 1913 Y Y9 YINPY 9199 DININ
Since then when the 07 n°v°27 congeals it will maintain the size of a nst>. This
concludes the citation of the X772 in naw.

mooIn concludes his question:
— 7325 %Y 2PUN NN

' The xm3 previously stated that w3 T3 is X372 N since 7IMA 773 X7 79°23 7IMaws. The xma does not state
this concerning o7; indicating that 07 is separate from the 77°21 and not included in the 7%°21 2n>.

* The term 72 is referring to the 72°21 which was X372 779M7 by the 7109 of 3 7ann ' 732, TheX"2w7 Moo and
"R NIDOIN write 77721 7MW,

? See “Thinking it over’ # 3.

*If one comes in contact with 7921 07 he becomes Xnv as if he came in contact with the 7521 itself.

> This is amended to read *72.

A o1 is (D7X) RAUN only when it is (at least) the size of a n*12. Therefore the 07 must be at least a n°¥"27 in order
for it to be Xnwn, for then (even) when it congeals it will still be a n°12.

7 Otherwise why is it pertinent that the wp1w o7 will be a n°t? The MW of a n°1> is for w2 (not 7 which is a
7pwn). We must therefore conclude that 79221 07 is (XnWn because it is) part of the 79°21 w3, See ‘Thinking it over” # 1.
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It is evident from that X 1) that 07 is considered as meat of the 7711 If it is
considered as the 177°21 2wa then why do we not say 77017 7271 191 R°7 719°21 7 NInwa?!

N1B0IN answers:
— 9Ya5 %Y BYNT DIYM INY DNNT PHYS 1339 XM

And the ' answered that there in Naw the 27 is not X1v»n because the 07 is

considered as w2, for as is evident from the X713 here, 07 is not w2 551 -
— NV M523 D7 1990 1PUATT “D1ps DIV W NN

But rather there is some 102 from where we infer that ny»°21 a7 is X»w -
— DHN 9MINTI H’Yr292 19YVUN 9mavm

And logically we estimate that the amount of blood to be Xnv»n requires a nsysan

as °"21 ruled there —
—9vAa5 047 19°aYN XY M2 XYa YaN

However without a %139 we do not consider 27 as "w2. This explains why we do not
say 7IN%T N7 R 9021 7mnwD.

mdon offers a proof that 07 is not Ww13:
—"NPvN 099 Nt YIYN 0T P91 993 (0w, g1 NIIYNAY

For in 77°¥» noon we also derive that yawn 27 is Xaun from the P05 of 2% 1Y

"N this includes blood of the 7w as well -
1199 19997 XY 11999) XYV
However from the fact that a 9w is 8%% we would not know that yw o7 is xnvn. A

separate "2 is required; the same is true with 779°21 07, which it is Xnv» only because there is
some "M2°1.

SUMMARY
07 is not considered as part of the 7n72 concerning 7RI 77°21 700 as well as
TR, A separate 77 is required for 19°21 07 XMW,

THINKING IT OVER
1. mooin asked that since °"2» stated that a 07 n°y*27 is required Y "1 PRI
n°192 that proves that 07 is w23."> Seemingly from the mere fact that o7 is Xnun

8 moown does not indicate (at all) what that p1oD might be.

’ The P05 from where we derive that 79°21 07 is X»v» does not indicate the required 07 MW, in order to be Xnun,
therefore we derive X1207 the My°w from 77°21 NXMY which is a w32 n°13; which is the equivalent of a o7 ny»a".

1095 % Crnw) RPN,

"' mpoin there 2°n57 117 states that we derive it either from the 'Y of n or from the 7' of X»vf. See *"wA there 2"X 71"7.
12 See footnote # 7.
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(regardless of the My°w) should be sufficient proof that 27 is w22 (otherwise why
is it xnum)! "

2. Should there be a (7wTY> WP*w) 1w of yaw 07 in order to be xnun?'

3. moon derives that o7 is not 79°21 9222 since the X ) did not answer 7MW
7T T 01 7921 (and therefore ModIn has the Xwp from 07 NRM™IW). Seemingly
it is possible to say that o7 is w2 %922 (which explains the X3 of 07 NRMW),
however we cannot say 7707 727 121 712°21 7MW, because the P05 writes 713NN
719o%), and 07 is drunk but not eaten, and therefore there is no 0.

Alternately it is possible to cook or salt the 07, whereby it becomes XN»RT» IN0N.
Therefore there is no indication of the 7X17 707 of 07 from this ?105. Concerning
TwIT TN 7921 w3 where there is never a 07, therefore if it was 7RI72 0K it
would not be permitted to be 7321 711nN; however by 07 even though it is MOX
X172 (before the nmoHm1 9w12), nevertheless the 770 permits the 71911 710N (as far
as the 7221 Mo°x is concerned) if there is either 2w or anon! '

1 See 52 7w in w"X17 MoOMN.

14 See y M7 0"x1 and HRMW 737,
15 See 1.

16 See n"ox.
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